17172011.istQa

Mon Jun 20 06:23:20 2016



Entries 277776 IEntries 277776|

I The number of RawHits vs. sensor ID I I The number of hits vs. sensor ID I

=

o
w
[N
N
o

Number of Hits
|_\
o
o

Number of Raw Hits
=
H
o
N
(]
o

o2}
o

10 40

20 40 60 80 100 120 140
Sensor ID Sensor ID

20 40 60 80 100 120 140

Entries 1443617 IEntries 1443617 |
3 ADC of raw hits at time bin 0 vs. channel geometry ID 3 ADC of raw hits at time bin 1 vs. channel geometry ID
x10 I—I x10 I—I

108

2 £ 4
T T
z 3. zZ35
hd hd
SN 5
3
8 10 o 102
< <
25 25
1.5§ 15
0.5 0.5
i 3
0 1

20 40 60 80 100 20 40 60 80 100
Channel ID Channel ID



ADC of Raw Hits

ADC of Raw Hits

4

Entries 1443617

><103

ADC of raw hits at time bin 2 vs. channel geometry ID

10°

10?2

10

3.5

2.5

15

0.5

Channel ID

Entries 1443617

X
[N
o

1

3 I ADC of raw hits at time bin 4 vs. channel geometry ID I

x10

)
o
N
o

M
80 100

Channel ID

ADC of Raw Hits

IEntries 1443617 l

><1O3

ADC of raw hits at time bin 3 vs. channel geometry ID

80 100

Channel ID

IEntries 1443617 |

X
=
o

3.5

ADC of Raw Hits

2.5

15

0.5

N
LA R R ERARRN LAREN RAREE REREE LEREE ILEEEE ILELE

i

3 I ADC of raw hits at time bin 5 vs. channel geometry ID I

x10

(@)
N
nl
INE
o

Page 3

M
80 100

Channel ID



ADC of Raw Hits

ADC of Raw Hits

3.5

2.5

15

0.5

3 ADC of raw hits at time bin 6 vs. channel geometry ID

11X
[N
1.

3.5

2.5

15

0.5

20 40 60 80 100
Channel ID

3 ADC of raw hits at time bin 8 vs. channel geometry ID
x10 I—I

1

20 40 60 80 100

Channel ID

Entries 1443617

x10

Entries 1443617

x10

ADC of Raw Hits

RMS noise of Raw Hits

3.5

2.5

15

0.5

60

50

40

30

20

10

IEntries 1443617 l

3 ADC of raw hits at time bin 7 vs. channel geometry ID

Ll R
[N
j.

20 40 60 80 100
Channel ID

IEmries 1443617 |

x10

I RMS noise of raw hits vs. channel geometry ID I

80 100
Channel ID

20 40 60

Page 4

= w



ADC of Hits

Max Time Bin Index

0 10

ADC of hits vs. sensor ID

x10°
St

102
10
1 1
20 40 60 80 100 120 140
Sensor ID
I Max time bin of raw hits vs group ID I
10*
10°

20 30 40 50 60 70
Group ID [12*(RDO-1)+2*ARM+GROUP]

Entries 1261987

10?

10

RMS noise of Hits

Max Time Bin Index

60

50

40

30

20

10

IEntries 1261987 |

I RMS noise of hits vs. sensor ID l

" 104
- 10°
o 102
10
0:...I...I...I...I...I...I...I 1
20 40 60 80 100 120 140
Sensor ID
IEntries 1443617|
I Max time bin of raw hits vs APV ID I
9
8
7
6
5 102
ELIOM I C \
3
\ il H 10
1
1k
1 LIRLIN M IIHIH
ot 1

0 100 200 300 400 500 600 700 800

APV ID [144*(RDO-1)+24*ARM+APV]

Page 5



Max Time Bin Index

Cluster Size in Z of Hits

IEntries 1261987 l

IMax time bin of hits vs. sensor ID|

9
0 1
20 40 60 80 100 120 140
Sensor ID
IEntries 1261987|
Cluster size in Z of hits vs. sensor ID
20 104
18
16
10°
14
12
10 102
8
6
10
4
2
0 1
20 40 60 80 100 120 140
Sensor ID

Cluster Size of Hits

Cluster Size in r-@of hits

IEntries 1261987 l

I Cluster size of hits vs. sensor ID l

20 40 60 80 100 120 140
Sensor ID
IEntries 1261987|

I Cluster size in r-@of hits vs. sensor ID I

102

10

20 40 60 80 100 120 140

Sensor ID



IEntries 1261987 I

map in r-phivs. Z

Columnin Z

10

10

i

/i) Y I
02 O

Row in r-¢

IEntries 1261987 |

| Global X vs. Global Y |

15

10

Global Y [cm]

-10F \'-., ,,\ e
1 : ra—
§15 -10 -5 0 5 10
Global X [cm]

Entries 1261987

I IST hit map in APV geometry Id vs. ladder I

a
@
©
ks

_ 108

102

10

5 10 15 20 25 30 35 1

APV geometry ID
IEntries 1261987|

| Global @vs. Global Z |

Global Z [cm]

e e —

10

Global @[rad.]



Row

<rawhits>

60

50

40

30

20

10

IEntries 7806 |

I Raw Hit column vs. row: Ladder 1 Sensor 1 I

Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 1 Sensor 1I

3 4

5

6

4102
7 8 9 10

EventID (Time)

IEntries 6732 |

Hit mean column vs. mean row: Ladder 1 Sensor 1

60 10

Mean Row

50
40
30
20

107t
10

2 4 6 8 10 12
Mean Column

IEntries 10514 |

Raw Hit column vs. row: Ladder 1 Sensor 2

Row
]

: 1IIII
II

i

-1 II‘II

—
=
-
N

12
Column



Mean Row

Row

IEntries 9209 | IEntries 1929 |
INumber of raw hits vs. EventID: Ladder 1 Sensor 2I

Hit mean column vs. mean row: Ladder 1 Sensor 2

N

(7)) -

= -
E
o

v -

10§ -

1 -

- 3
x10
o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 11896 | IEntries 10332 |
Raw Hit column vs. row: Ladder 1 Sensor 3 Hit mean column vs. mean row: Ladder 1 Sensor 3
60

[N
o
Mean Row

50

40

30

20

107t

6 8 10 12

Column Mean Column
Page 9



<rawhits>

Mean Row

IEntries 1929 I

INumber of raw hits vs. EventID: Ladder 1 Sensor 3I

><1O3

o0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8661|

IHit mean column vs. mean row: Ladder 1 Sensor 4I

60

50

40

30

20

10

Mean Column

'l Illll 'l 'l IIIII-
[ =
o

IEntries 9978 I

I Raw Hit column vs. row: Ladder 1 Sensor 4 I

% o
x 60
10
50
40
1
30
20
107"
10
2 4 6 8 10 12
Column
IEntries 1929 |
INumber of raw hits vs. EventID: Ladder 1 Sensor 4I
A =
2 i
= -
\%

[N
o

4102
0 5 6 7 8 9 10

EventID (Time)



Row

<rawhits>

IEntries 7055 I

I Raw Hit column vs. row: Ladder 1 Sensor 5 I

10

107%

10 12
Column

IEntries 1929 |

INumher of raw hits vs. EventID: Ladder 1 Sensor 5I

4

5

6

1x10°
7 8 9 10

EventID (Time)

IEntries 6191|

Hit mean column vs. mean row: Ladder 1 Sensor 5

Mean Row

Mean Column

IEntries 11798 |

I Raw Hit column vs. row: Ladder 1 Sensor 6 I

Row

108

10

Column



Mean Row

Row

60

50

40

30

20

10

IEntries 10539 l

IHlt mean column vs. mean row: Ladder 1 Sensor SI

10°
102
: 10
PR S e 1

4 6 8 10 12
Mean Column

IEntries 9401|

I Raw Hit column vs. row: Ladder 2 Sensor 1 I

=110

4 6 8 10 12
Column

<rawhits>

Mean Row

Page 12

lO

60
50
40
30
20

10

IEntries 1929 l

INumber of raw hits vs. EventID: Ladder 1 Sensor 6I

2 3 4 5 6 7 8

><103
9 10

EventID (Time)

IEntries 7977 |

IHit mean column vs. mean row: Ladder 2 Sensor 1I

4 6 8 10

=110

12

Mean Column



<rawhits>

Mean Row

IEntries 1929 | IEntries 10189 |
INumber of raw hits vs. EventID: Ladder 2 Sensor 1I I Raw Hit column vs. row: Ladder 2 Sensor 2 I

; % =
] @ 60
1 10
. 50

oy E 40
] 1
] 30

20
; 107
§ 10
4x10°
4 5 6 7 8 9 10
EventID (Time) Column

IEntries 9091| IEntries 1929 |
INumber of raw hits vs. EventID: Ladder 2 Sensor 2I

Hit mean column vs. mean row: Ladder 2 Sensor 2

N
ﬂ -
E -
% -
\% -
10 ‘ =
1 -
.x103

0 5 6 7 8 9 10

Mean Column EventID (Time)



IEntries 11673 | IEntries 10404 |

Raw Hit column vs. row: Ladder 2 Sensor 3

Column

Hit mean column vs. mean row: Ladder 2 Sensor 3

Mean Row

Mean Column

IEntries 1929 | IEntries 11510 |

INumber of raw hits vs. EventID: Ladder 2 Sensor 3I

<rawhits>

10

Raw Hit column vs. row: Ladder 2 Sensor 4

Row

0 3 4 5 6

EventID (Time)

7 8 9 10

><103

Column

Page 14



Mean Row

Row

IEntries 10485 | IEntries 1929 |

Hit mean column vs. mean row: Ladder 2 Sensor 4

INumber of raw hits vs. EventID: Ladder 2 Sensor 4I

60 —_ é i
— = -
— | — <

L —— 10 (% b

50 - —— — v ]
— — —

30 — i
I I JR—

— — o
20" — __—

— 1 -

— -_- 10_1 E

10 | ]

___ i x103
2 4 6 8 10 12 o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 10122 | IEntries 9137 |
Raw Hit column vs. row: Ladder 2 Sensor 5 Hit mean column vs. mean row: Ladder 2 Sensor 5

Mean Row

Column Mean Column



<rawhits>

Mean Row

IEntries 1929 I

5

6

INumber of raw hits vs. EventID: Ladder 2 Sensor 5I

4103
7 8 9 10

EventID (Time)

IEntries 7563 |

Hit mean column vs. mean row: Ladder 2 Sensor 6

— -_
o

frh

A

|

=
"t I‘lll

——
—
™

il

Mean Column

Row

<rawhits>

10

IEntries 8903 I

Raw Hit column vs. row: Ladder 2 Sensor 6

.
-

|
| I
-
__
—
—
h
—
— S
T ——
|| _-
10 12
Column

IEntries 1929 |

5

6

INumber of raw hits vs. EventID: Ladder 2 Sensor 6I

4102
7 8 9 10

EventID (Time)



7735

Entries

9101

Entries

Hit mean column vs. mean row: Ladder 3 Sensor 1

Raw Hit column vs. row: Ladder 3 Sensor 1

A _____

"

_:_____________
____ = _7_- -

MOY UeaN

A

=__.__ -__._7_____ L_; ___

"
"

____

o o o
Tel < ™

moy

i)

Mean Column

Column

10496

Entries

1929

Entries

Raw Hit column vs. row: Ladder 3 Sensor 2

Number of raw hits vs. EventID: Ladder 3 Sensor 1

10

moy

107

_iL_ __b _=__Ta : _

.x103

<slymes>

9 10

EventID (Time)

Column

Page 17



=
o
o
<
I
]
=

=

Row

IEntries 9164 |

Hit mean column vs. mean row: Ladder 3 Sensor 2

. il II

Mean Column

IEntries 9694 |

Raw Hit column vs. row: Ladder 3 Sensor 3

60

50

40

30

20

107t

6 8 10 12
Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 3 Sensor 2I

<rawhits>

10

4102
7 8 9 10

EventID (Time)

IEntries 8609 |

IHit mean column vs. mean row: Ladder 3 Sensor 3I

Mean Row

Mean Column

Page 18



<rawhits>

Mean Row

IEntries 1929 I

INumber of raw hits vs. EventID: Ladder 3 Sensor 3I

1<10°
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 10279 |

Hit mean column vs. mean row: Ladder 3 Sensor 4

Mean Column

Row

<rawhits>

IEntries 11598 I

I Raw Hit column vs. row: Ladder 3 Sensor 4 I

60

10
50
40

1
30
20

107t
10

2 4 6 8 10 12
Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 3 Sensor 4I

10

><103
0 5 6 7 8 9 10

EventID (Time)



Row

<rawhits>

IEntries 10436 |

Raw Hit column vs. row: Ladder 3 Sensor 5

Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 3 Sensor 5I

><103
4 5 6 7 8 9 10

EventID (Time)

Mean Row

Row

IEntries 9141|

Hit mean column vs. mean row: Ladder 3 Sensor 5

Mean Column

IEntries 8863 |

Raw Hit column vs. row: Ladder 3 Sensor 6

Column



Mean Row

Row

w
o
NII I I1 | III | “ I1III

IEntries 7583 | IEntries 1929 |
INumber of raw hits vs. EventID: Ladder 3 Sensor GI

Hit mean column vs. mean row: Ladder 3 Sensor 6

L S /(/\) .
60 — — = o
o ] 10 é -
— — @®© -
— - \7
50 _ — S— |
-_— — J .
40 - — — I A
—— e ]
— S Im J
e
30 p— _—— 1
L — ___—
20 = — — 1 =
— m e 10! :
o e oy :
- r—, + i
i —  —"
= _. o 4102
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 8984 | IEntries 7708 |
Raw Hit column vs. row: Ladder 4 Sensor 1 Hit mean column vs. mean row: Ladder 4 Sensor 1
P E—
60 -

10

]
i
1

Mean Row

50

I II ;I | | II II
I

107t

IIII lII‘I

L

10 12
Column Mean Column



<rawhits>

Mean Row

rﬂllhilll J

IEntries 1929 I

INumber of raw hits vs. EventID: Ladder 4 Sensor 1I

0 1 2 3 4 5 6

1<10°
7 8 9 10

EventID (Time)

IEntries 9310 |

Hit mean column vs. mean row: Ladder 4 Sensor 2

i

{
|

Mean Column

<rawhits>

10

IEntries 10672 I

Raw Hit column vs. row: Ladder 4 Sensor 2

Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 4 Sensor 2I

5

6

4102
7 8 9 10

EventID (Time)



Row

<rawhits>

IEntries 11923 |

I Raw Hit column vs. row: Ladder 4 Sensor 3 I

10

107t

Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 4 Sensor 3I

10

4102
7 8 9 10

EventID (Time)

0 3 4 5 6

IEntries 10599 |

Hit mean column vs. mean row: Ladder 4 Sensor 3

Mean Row

Mean Column

IEntries 11568 |

I Raw Hit column vs. row: Ladder 4 Sensor 4 I

Row

10

Column



Mean Row

Row

IEntries 10316 l IEntries 1929 l
INumber of raw hits vs. EventID: Ladder 4 Sensor 4I

Hit mean column vs. mean row: Ladder 4 Sensor 4

N
Z ]
= -
g
- -
10 E
1 E
I -x103
0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEmries 10165 | IEntries 8936 |
I Raw Hit column vs. row: Ladder 4 Sensor 5 I IHit mean column vs. mean row: Ladder 4 Sensor 5I

; =
b c C — —
© B
() L —
50 = 50|
: | |
40 40F
=110 L —
30 . 30F
b : —
20 y 20
: —
10 10F
K _—
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column



<rawhits>

Mean Row

IEntries 1929 I IEntries 8877 I
INumber of raw hits vs. EventID: Ladder 4 Sensor 5I I Raw Hit column vs. row: Ladder 4 Sensor 6 I

Row

'><1O3
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time) Column

IEntries 7590 | IEntries 1929 |
INumber of raw hits vs. EventID: Ladder 4 Sensor 6I

Hit mean column vs. mean row: Ladder 4 Sensor 6

_— -— —_ l é -

R = o

W g 10 2 ]

.—: -_ —: d 10K -

— e . - 17 1 7

‘_ __ * : -

- __ |

| — - 1 ]

=— — ]
—_— ﬁ __- i x103

12 0 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

10

IEntrieS 9321| IEntries 7907 |

Raw Hit column vs. row: Ladder 5 Sensor 1

Column

Hit mean column vs. mean row: Ladder 5 Sensor 1

Mean Row

Mean Column

IEntries 1929 | IEntries 10454 |

INumber of raw hits vs. EventID: Ladder 5 Sensor 1I

3 4

5

6

Raw Hit column vs. row: Ladder 5 Sensor 2

Row

7 8 9 10

EventID (Time)

><103

Column



Mean Row

Row

IEntries 9084 l IEntries 1929 l
INumber of raw hits vs. EventID: Ladder 5 Sensor 2I

Hit mean column vs. mean row: Ladder 5 Sensor 2

|_\
o
<rawhits>

10§

1 E
107t ]
4x10°
0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEmries 11289 | IEntries 10132 |
I Raw Hit column vs. row: Ladder 5 Sensor 3 I IHit mean column vs. mean row: Ladder 5 Sensor 3I

-
60 o

[y

- ©

()
50 =
40
30 =110
20 .
10

2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column



<rawhits>

Mean Row

IEntries 1929 I

INumber of raw hits vs. EventID: Ladder 5 Sensor 3I

2 3 4 5 6 7 8
EventID (Time)

IEntries 10410 |

><1O3

9 10

Hit mean column vs. mean row: Ladder 5 Sensor 4

?I
I I“

12
Mean Column

10

107t

Row

<rawhits>

10

IEntries 11703 I

Raw Hit column vs. row: Ladder 5 Sensor 4

4 6 8 10 12
Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 5 Sensor 4I

5 6 7 8
EventID (Time)

><103

9 10



Row

<rawhits>

IEntries 10289 | IEntries 9010 |

Raw Hit column vs. row: Ladder 5 Sensor 5 Hit mean column vs. mean row: Ladder 5 Sensor 5

Mean Row

Column Mean Column

IEntries 1929 | IEntries 8701|
INumber of raw hits vs. EventID: Ladder 5 Sensor 5I I Raw Hit column vs. row: Ladder 5 Sensor 6 I

2 T m— — —
] Do: | . s
T e 10
o= == — —
] —_— S 1
- — —- __ ——
1 r — e ——
h — — — _—
] - e | ™ 107
b —— I - ||
- - _'_ I
| o
Ix10° — = B
0 3 4 5 6 7 8 9 10 6 8 10 12
EventID (Time) Column



Mean Row

Row

IEntries 7479 |

Hit mean column vs. mean row: Ladder 5 Sensor 6

10

107t

Mean Column

IEntries 9271|

Raw Hit column vs. row: Ladder 6 Sensor 1

Column

<rawhits>

10Q

Mean Row

Page 30

IEntries 1929 |

5

6

INumber of raw hits vs. EventID: Ladder 5 Sensor GI

1x10°
7 8 9 10

EventID (Time)

IEntries 7910 |

Hit mean column vs. mean row: Ladder 6 Sensor 1

|

g

Jlull II‘ II

I IIII: III

Mean Column



<rawhits>

Mean Row

IEntries 1929 I

INumber of raw hits vs. EventID: Ladder 6 Sensor 1I

6

4103
7 8 9 10

EventID (Time)

IEntries 9097 |

Hit mean column vs. mean row: Ladder 6 Sensor 2

Mean Column

IEntries 10415 I

Raw Hit column vs. row: Ladder 6 Sensor 2

<rawhits>

10

Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 6 Sensor 2I

5

6

1x10°
7 8 9 10

EventID (Time)



I Raw Hit column vs. row: Ladder 6 Sensor 3 I

Row

I
! v e e R e 1
2 4 6 8 10 12

Column

INumber of raw hits vs. EventID: Ladder 6 Sensor 3I

<rawhits>

10

5 6 7 8 9 10
EventID (Time)

Entries 11620

10

Entries 1929

'><103

Mean Row

Row

IEntries 10299 l

IHit mean column vs. mean row: Ladder 6 Sensor 3I

4 6 8 10 12
Mean Column

IEntries 11572 |

Raw Hit column vs. row: Ladder 6 Sensor 4

Column



Mean Row

Row

IEntries 10225 |

Hit mean column vs. mean row: Ladder 6 Sensor 4

Mean Column

IEntries 10550 |

Raw Hit column vs. row: Ladder 6 Sensor 5

10

107t

Column

<rawhits>

Mean Row

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 6 Sensor 4I

4102
7 8 9 10

EventID (Time)

IEntries 9222 |

0 1 2 3 4 5 6

Hit mean column vs. mean row: Ladder 6 Sensor 5

10

107t

1

Mean Column



<rawhits>

Mean Row

UL

IEntries 1929 I

INumber of raw hits vs. EventID: Ladder 6 Sensor 5I

'><1O3
5 6 7 8 9 10

EventID (Time)

IEntries 7627 |

Hit mean column vs. mean row: Ladder 6 Sensor 6

(o]
[
OIM
q |
"L

—

Mean Column

Row
b
I
1

<rawhits>

=Y
o

IEntries 8891|

Raw Hit column vs. row: Ladder 6 Sensor 6

| l'i

1l I"I I“I

10 12
Column

IEntries 1929 |

5

6

INumber of raw hits vs. EventID: Ladder 6 Sensor 6I

4102
7 8 9 10

EventID (Time)



Row

<rawhits>

IEntries 9329 |

I Raw Hit column vs. row: Ladder 7 Sensor 1 I

10

107t

Column

IEntries 1929 |

lNumber of raw hits vs. EventID: Ladder 7 Sensor 1I

10

1x10°
7 8 9 10

EventID (Time)

0 3 4 5 6

IEntries 7987 |

Hit mean column vs. mean row: Ladder 7 Sensor 1

10

Mean Row

A

I

107t

4 6 8 10 12
Mean Column

IEntries 10425 |

Raw Hit column vs. row: Ladder 7 Sensor 2

Row

40

107t

10

12
Column

Page 35



Mean Row

Row

IEntries 9103 |

Hit mean column vs. mean row: Ladder 7 Sensor 2

60

50

40

=

30

20

107t
10

10 12
Mean Column

IEntries 11418 |

Raw Hit column vs. row: Ladder 7 Sensor 3

60

50

40

30

20

107t

10 12

Column

<rawhits>

Mean Row

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 7 Sensor 2I

10

1x10°
7 8 9 10

EventID (Time)

IEntries 10106 |

0 1 2 3 4 5 6

IHit mean column vs. mean row: Ladder 7 Sensor 3I

10

10 12
Mean Column



<rawhits>

Mean Row

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 7 Sensor 3I

0 1. 2 3 4 5 6 7 8

EventID (Time)

IEntries 10098 |

><1O3

9 10

Hit mean column vs. mean row: Ladder 7 Sensor 4

Mean Column

10

107t

IEntries 11364 |

Raw Hit column vs. row: Ladder 7 Sensor 4

3
x 60
10
50
40
1
30
20
107t

10

2 4 6 8 10 12

Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 7 Sensor 4I

<rawhits>

10

'><103
0 5 6 7 8 9 10

EventID (Time)



IEntries 10269 |

Raw Hit column vs. row: Ladder 7 Sensor 5

10

107t

Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 7 Sensor 5I

<rawhits>

10

4102
4 5 6 7 8 9 10

EventID (Time)

IEntries 9076 |

IHit mean column vs. mean row: Ladder 7 Sensor SI

10

Mean Row

107t

10
Mean Column

IEntries 8901|

Raw Hit column vs. row: Ladder 7 Sensor 6

Row

Column



Mean Row

Row

60

50

40

30

20

10

IEntries 7654 l

Hit mean column vs. mean row: Ladder 7 Sensor 6

e
10
1
107t

10
Mean Column

IEntries 9323 |

12

I Raw Hit column vs. row: Ladder 8 Sensor 1 I

10

10 12

Column

IEntries 1929 l

INumber of raw hits vs. EventID: Ladder 7 Sensor GI

N -
2 .
= i
\Y
104 E
1 E
'X103
O 1 2 3 4 5 6 7 8 9 10
EventID (Time)
IEntries 7878 |
IHit mean column vs. mean row: Ladder 8 Sensor 1I
: &
@ 60
c
[3M]
(]
= 50
=110
40 ]
30 iy
20 .
10

10 12

Mean Column
Page 39



<rawhits>

Mean Row

IEntries 1929 l

2 3 4 5 6

INumber of raw hits vs. EventID: Ladder 8 Sensor 1I

1x10°
7 8 9 10

EventID (Time)

IEntries 8939 |

IHiI mean column vs. mean row: Ladder 8 Sensor 2I

2

10 12
Mean Column

IEntries 10265 l

I Raw Hit column vs. row: Ladder 8 Sensor 2 I

<rawhits>

10

2

4 6

8

10 12
Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 8 Sensor 2I

2 3 4

5

6

1x10°
7 8 9 10

EventID (Time)




Row

<rawhits>

60

50

40

30

20

10

IEntries 9653 | IEntries 8583 |

I Raw Hit column vs. row: Ladder 8 Sensor 3 I

10 12

Column

IHit mean column vs. mean row: Ladder 8 Sensor 3I

2
x 60
10 S - 10
o X
= 50
40
1 [ 1
30
20F
10 : 107
10

Mean Column

IEntries 1929 | IEntries 11690 |

INumber of raw hits vs. EventID: Ladder 8 Sensor 3I

3 4

5

6

7 8 9 10

EventID (Time)

Raw Hit column vs. row: Ladder 8 Sensor 4

Row

><103

Column



Mean Row

Row

IEntries 10405 | IEntries 1929 |

Hit mean column vs. mean row: Ladder 8 Sensor 4

INumber of raw hits vs. EventID: Ladder 8 Sensor 4I

N .

(n -
=

é -

S -

\Y -

10 -

1 =

- 3
x10
0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 10207 | IEntries 8999 |
Raw Hit column vs. row: Ladder 8 Sensor 5 Hit mean column vs. mean row: Ladder 8 Sensor 5

10

Mean Row

107t

Column Mean Column
Page 42



<rawhits>

Mean Row

IEntries 1929 I

INumber of raw hits vs. EventID: Ladder 8 Sensor 5I

4103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 7648 |

Hit mean column vs. mean row: Ladder 8 Sensor 6

Mean Column

<rawhits>

10§

IEntries 8910 I

Raw Hit column vs. row: Ladder 8 Sensor 6

10 12
Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 8 Sensor 6I

5

6

1x10°
7 8 9 10

EventID (Time)



<rawhits>

10

IEntries 9232 |

Raw Hit column vs. row: Ladder 9 Sensor 1

8

10

107t

10 12

Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 9 Sensor 1I

3 4

5

6

><103
7 8 9 10

EventID (Time)

Mean Row

Row

IEntries 7852 |

Hit mean column vs. mean row: Ladder 9 Sensor 1

10

107t

2 4 6 8 10 12
Mean Column

IEntries 10527 |

I Raw Hit column vs. row: Ladder 9 Sensor 2 I

10

Column



Mean Row

Row

IEntries 9197 | IEntries 1929 |

Hit mean column vs. mean row: Ladder 9 Sensor 2

INumber of raw hits vs. EventID: Ladder 9 Sensor 2I

N

2 ]

= i
10 §

v -

10 r

1 ]

! E

107 )

- x103
4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 11669 | IEntries 10341|
Raw Hit column vs. row: Ladder 9 Sensor 3 Hit mean column vs. mean row: Ladder 9 Sensor 3

10

Mean Row

Column Mean Column



<rawhits>

Mean Row

IEntries 1929 I

INumber of raw hits vs. EventID: Ladder 9 Sensor 3I

><1O3

2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 10217 |

Hit mean column vs. mean row: Ladder 9 Sensor 4

Mean Column

10

107t

Row

<rawhits>

10

IEntries 11415 I

Raw Hit column vs. row: Ladder 9 Sensor 4

10 12
Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 9 Sensor 4I

5

6

><103

7 8 9 10

EventID (Time)



Row

<rawhits>

10

IEntries 10190 |

I Raw Hit column vs. row: Ladder 9 Sensor 5 I

10 12
Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 9 Sensor 5I

4

5

6

4102
7 8 9 10

EventID (Time)

Mean Row

Row

IEntries 8960 |

Hit mean column vs. mean row: Ladder 9 Sensor 5

Mean Column

IEntries 8623 |

Raw Hit column vs. row: Ladder 9 Sensor 6

Column



Mean Row

Row

IEntries 7390 | IEntries 1929 |

IHit mean column vs. mean row: Ladder 9 Sensor 6I INumber of raw hits vs. EventID: Ladder 9 Sensor GI

N -
[

= b

g i
o

v -

104 -

1 -

- 3
x10
o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 9138 | IEntries 7819 |
Raw Hit column vs. row: Ladder 10 Sensor 1 Hit mean column vs. mean row: Ladder 10 Sensor

Mean Row

12

Column Mean Column
Page 48



<rawhits>

Mean Row

IEntries 1929 I IEntries 9554 I

INumber of raw hits vs. EventID: Ladder 10 Sensor j

Raw Hit column vs. row: Ladder 10 Sensor 2

Row

><1O3

2 3 4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time)

Column

IEntries 8363 | IEntries 1929 |

Hit mean column vs. mean row: Ladder 10 Sensor

6 8 10 12
Mean Column

humber of raw hits vs. EventID: Ladder 10 Sensor 2I

10

<rawhits>

107t

1x10°
0 5 6 7 8 9 10

EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

I Raw Hit column vs. row: Ladder 10 Sensor 3 I

1
2

4 6

8

10 12
Column

humber of raw hits vs. EventID: Ladder 10 Sensor 3I

5

6

Entries 11334

Mean Row

=110

IEntries 10056 l

IHit mean column vs. mean row: Ladder 10 Sensor j

e P — e e
2 4

Entries 1929

Row

7 8 9 10

EventID (Time)

><103

6 8 10 12
Mean Column

IEntries 11283 |

Raw Hit column vs. row: Ladder 10 Sensor 4

10

107t

Column



Mean Row

Row

IEntries 9992 | IEntries 1929 |
bumber of raw hits vs. EventID: Ladder 10 Sensor 4I

Hit mean column vs. mean row: Ladder 10 Sensor

N

[ -
=

é -

S -

Vv -

10 ‘ =

1 -

- 3
x10
o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 10259 | IEntries 8998 |
Raw Hit column vs. row: Ladder 10 Sensor 5 Hit mean column vs. mean row: Ladder 10 Sensor

10

Mean Row
I
|
[
I

AN O vt 11

*

107

II II [
'T‘J'.
I!IIIh

Column Mean Column



<rawhits>

Mean Row

IEntries 1929 l |Entries 856l|
humber of raw hits vs. EventID: Ladder 10 Sensor SI I Raw Hit column vs. row: Ladder 10 Sensor 6 I

Row
]

\
.\

!

*.

4!
IIIL

—

" __
E -  ——E
] —_— o ——
] = == _- —
— — — e —
'X103 L | — — L
o 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time) Column

IEntries 7343 | IEntries 1929 |
humber of raw hits vs. EventID: Ladder 10 Sensor 6I

IHit mean column vs. mean row: Ladder 10 Sensor EI

N
)] -
. 1 _
— {410 3 ]

50 = v

[y
o

.x103
0 5 6 7 8 9 10
Mean Column EventID (Time)



IEntries 8957 |

Raw Hit column vs. row: Ladder 11 Sensor 1

Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 11 Sensor j

<rawhits>

10§

4102
4 5 6 7 8 9 10

EventID (Time)

Mean Row

Row

IEntries 7622 |

Hit mean column vs. mean row: Ladder 11 Sensor

10

—
—=
30
L

el

;
I|
IIllll

107t

=|l |';|

4 6 8 10 12
Mean Column

IEntries 9902 |

I Raw Hit column vs. row: Ladder 11 Sensor 2 I

10

107t

Column



Mean Row

Row

IEntries 8658 l

Hit mean column vs. mean row: Ladder 11 Sensor

Mean Column

IEmries 11381|

I Raw Hit column vs. row: Ladder 11 Sensor 3 I

Column

<rawhits>

10

Mean Row

IEntries 1929 l

humber of raw hits vs. EventID: Ladder 11 Sensor 2I

4103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 10158 |

IHit mean column vs. mean row: Ladder 11 Sensor j

4 6 8 10 12
Mean Column



<rawhits>

Mean Row

IEntries 1929 I IEntries 11165 I
humber of raw hits vs. EventID: Ladder 11 Sensor SI I Raw Hit column vs. row: Ladder 11 Sensor 4 I

S
. @ 60
1 10
50
] 40
] 1
] 30
E 20
] 107
i 10
'x103
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEntries 9946 | IEntries 1929 |
humber of raw hits vs. EventID: Ladder 11 Sensor 4I

Hit mean column vs. mean row: Ladder 11 Sensor

N
ﬂ -
E -
% -
\% -
10 -
1 =
.x103

0 5 6 7 8 9 10

Mean Column EventID (Time)



I Raw Hit column vs. row: Ladder 11 Sensor 5 I

2 4 6 8 10 12
Column

I:umber of raw hits vs. EventID: Ladder 11 Sensor SI

<rawhits>

4 5 6 7 8 9 10
EventID (Time)

Entries 10244

10

Entries 1929

'X103

Mean Row

IEntries 9031|

IHlt mean column vs. mean row: Ladder 11 Sensor j

Row

Page 56

4 6 8 10

12

Mean Column

IEntries 8645 |

I Raw Hit column vs. row: Ladder 11 Sensor 6 I

o e

4 6 8 10

12
Column



Mean Row

Row

IEntries 7413 | IEntries 1929 |
bumber of raw hits vs. EventID: Ladder 11 Sensor 6I

Hit mean column vs. mean row: Ladder 11 Sensor

N

[ -
=

é -

© 4
Vv

10 -

1 -

- 3
x10
o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 8927 | IEntries 7633 |
Raw Hit column vs. row: Ladder 12 Sensor 1 Hit mean column vs. mean row: Ladder 12 Sensor

10

[
i
I II
i
| ” I
r N
1
1.
Mean Row

=

107t

IIHI
| ‘II

107t

th

oal |

12

Column Mean Column
Page 57



<rawhits>

Mean Row

60

50

40

30

20

10

INumber of raw hits vs. EventID: Ladder 12 Sensor j

Entries 1929

IEntries 10095 l

I Raw Hit column vs. row: Ladder 12 Sensor 2 I

Ix10° it b ] e e PR P Y
2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IHil mean column vs. mean row: Ladder 12 Sensor EI

_— —
ﬁ —
__
 —
__ B
I
4 6 8 10 12

Mean Column

Entries 8822

IEntries 1929 |

I:umher of raw hits vs. EventID: Ladder 12 Sensor 2I

N
@ .
£ :
g
g i
10 r
=110 Z
1 E
{x103
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

I Raw Hit column vs. row: Ladder 12 Sensor 3 I

1
2 4 6 8 10 12
Column

I:umber of raw hits vs. EventID: Ladder 12 Sensor 3I

1 2 3 4 5 6 7
EventID (Time)

8 9 10

Entries 11429

60

Mean Row

50

40

=110

30

. 20

10

Entries 1929

Row

x10°

IEntries 10180 l

IHlt mean column vs. mean row: Ladder 12 Sensor j

=110

1
2 4 6 8 10 12
Mean Column

IEntries 11314 |

I Raw Hit column vs. row: Ladder 12 Sensor 4I

Column



Mean Row

Row

IEntries 10047 | IEntries 1929 |
bumber of raw hits vs. EventID: Ladder 12 Sensor 4I

IHit mean column vs. mean row: Ladder 12 Sensorj

A =
2 i
E -
g
v; -
10§ =
10 ]
1 E
- ><103
4 6 8 10 12 o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 10119 | IEntries 8854 |
Raw Hit column vs. row: Ladder 12 Sensor 5 Hit mean column vs. mean row: Ladder 12 Sensor

Mean Row

Column Mean Column



<rawhits>

Mean Row

Entries 1929 IEntries 8555 l
humber of raw hits vs. EventID: Ladder 12 Sensor 5I I Raw Hit column vs. row: Ladder 12 Sensor 6 I

Ix10° .|...|...|...|.._.|...|.
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Entries 7319 IEntries 1929 |
I:umher of raw hits vs. EventID: Ladder 12 Sensor 6I

IHil mean column vs. mean row: Ladder 12 Sensor d

N
ﬂ -
60 N .
2 ]
\%
50 _
110 10 :
40 1 :
30 - ]
20 1 T
10
1 Jx10°
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

10

IEntries 9009 |

Raw Hit column vs. row: Ladder 13 Sensor 1

Column

IEntries 1929 |

INumber of raw hits vs. EventID: Ladder 13 Sensor j

4

5

6

'><103
7 8 9 10

EventID (Time)

Mean Row

Row

IEntries 7683 |

Hit mean column vs. mean row: Ladder 13 Sensor

Mean Column

IEntries 10271|

I Raw Hit column vs. row: Ladder 13 Sensor 2 I

Column



Mean Row

Row

60

50

40

30

20

10

Entries 8886

IHlt mean column vs. mean row: Ladder 13 Sensor a

=110

1
2

4 6 8 10 12
Mean Column

Entries 11316

I Raw Hit column vs. row: Ladder 13 Sensor 3 I

=110

Column

IEntries 1929 l

humber of raw hits vs. EventID: Ladder 13 Sensor 2I

/\ -
2 i
< |
Vv
10 -
1 -
'X103

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)

IEntries 10014 |

IHit mean column vs. mean row: Ladder 13 Sensor j

Mean Row

A o o || S
2 4 6 8 10 12

Mean Column




<rawhits>

Mean Row

IEntries 1929 I IEntries 11317 I

5

6

humber of raw hits vs. EventID: Ladder 13 Sensor SI

I Raw Hit column vs. row: Ladder 13 Sensor 4 I

- % .
| T 60
’ 10
] 50
; 40
] .1
- 30
20
; 107
: 10
.x103
7 8 9 10 2 4 6 8 10 12

EventID (Time)

Column

IEntries 10047 | IEntries 1929 |

Hit mean column vs. mean row: Ladder 13 Sensor

I

1\

i

Mean Column

humber of raw hits vs. EventID: Ladder 13 Sensor 4I

/\ -
2 4
= J
% .
\Y -
10 -

1 -

- x103
0 5 6 7 8 9 10

EventID (Time)



Row

<rawhits>

10

IEntries 10071|

Raw Hit column vs. row: Ladder 13 Sensor 5

Column

IEntries 1929 |

humber of raw hits vs. EventID: Ladder 13 Sensor SI

3 4

5

6

4102
7 8 9 10

EventID (Time)

IEntries 8828 |

Hit mean column vs. mean row: Ladder 13 Sensor

Mean Row

Mean Column

IEntries 8308 |

Raw Hit column vs. row: Ladder 13 Sensor 6

% —__= ‘-__
x —
—_— = .. ——
[ p—
—— - —{ R

107

IIII:I |I
il

of IIIII I

6 8 10

Column
Page 65



Mean Row

Row

IEntries 7160 l IEntries 1929 l
humber of raw hits vs. EventID: Ladder 13 Sensor GI

IHit mean column vs. mean row: Ladder 13 Sensor ﬂ

|_\
o
<rawhits>
1 1 21 IIII

107t

4x10°
2 4 6 8 10 12 0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEntries 9161| IEntries 7719 |
I Raw Hit column vs. row: Ladder 14 Sensor 1I IHit mean column vs. mean row: Ladder 14 Sensor il

0 4

50 10

Mean Row

40

30 -

20

10

2 4 6 8 10 12 2 4 6 8 10 12

Column Mean Column
Page 66



<rawhits>

Mean Row

INumber of raw hits vs. EventID: Ladder 14 Sensor j

Entries 1929 IEntries 10227 l

I Raw Hit column vs. row: Ladder 14 Sensor 2 I

x10° A PR B PP Erar i D

2 3 4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time)

IHil mean column vs. mean row: Ladder 14 Sensor EI

Mean Column

Column

Entries 8879 IEntries 1929 |

I:umber of raw hits vs. EventID: Ladder 14 Sensor 2I

<rawhits>

10

=110

1x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)




Row

<rawhits>

60

50

40

30

20

10

Entries 11220

I Raw Hit column vs. row: Ladder 14 Sensor 3 I

:- | ]
:_ ] "
- |
[ =110
= || -
. - .
L — f
:_ | ] r—
:.FTT.. I e PR

2 4 6 8 10 12

Column

Entries 1929

4

5

6

I:umber of raw hits vs. EventID: Ladder 14 Sensor 3I

1x10°
7 8 9 10

EventID (Time)

IEntries 9972 l

IHlt mean column vs. mean row: Ladder 14 Sensor j

= I
c 5 —
© 9
o L
= 50— r— —
: —
40:- p— —
: —_—
30 —
[ |
: —
10
:.I_...I...I...I...
2 4 6 8 10 12
Mean Column
IEntries 11323 |
I Raw Hit column vs. row: Ladder 14 Sensor 4I
=
o
o

2 4 6 8 10 12

Column
Page 68



Mean Row

Row

60

50

40

30

20

10

IEntries 10085 l

IHlt mean column vs. mean row: Ladder 14 Sensorj

4 6 8 10

12

Mean Column

IEntries 10192 |

I Raw Hit column vs. row: Ladder 14 Sensor 5 I

|
— |
__
4 6 8 10 12
Column

IEntries 1929 l

humber of raw hits vs. EventID: Ladder 14 Sensor 4I

<rawhits>

10

4x103
O 1.2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8894 |
IHit mean column vs. mean row: Ladder 14 Sensor j

Mean Row

50

40 =110

30

20

10

2 4 6 8 10 12

Mean Column
Page 69



<rawhits>

Mean Row

Entries 1929 IEntries 8493 l
humber of raw hits vs. EventID: Ladder 14 Sensor 5I I Raw Hit column vs. row: Ladder 14 Sensor 6 I

- 3 —

x10 P P ] o [ [

0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Entries 7262 IEntries 1929 |
I:umber of raw hits vs. EventID: Ladder 14 Sensor 6I

IHil mean column vs. mean row: Ladder 14 Sensor d

N
%) ]
60 . = "
% -

50 v
3 10 10 r
0 [ | ;
30 1 ]

20 .
L -
10 ]
'><103
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10

Mean Column EventID (Time)



<rawhits>

IEntries 9147 | IEntries 7751|

I Raw Hit column vs. row: Ladder 15 Sensor 1I

Column

IHit mean column vs. mean row: Ladder 15 Sensor j

Mean Row

10
10

1
2 4 6 8 10 12
Mean Column

IEntries 1929 | IEntries 10377 |

INumber of raw hits vs. EventID: Ladder 15 Sensor j

3 4

5

6

7 8 9 10

EventID (Time)

Raw Hit column vs. row: Ladder 15 Sensor 2

Row

><103

Column



Mean Row

Row

IEntries 9039 | IEntries 1929 |

Hit mean column vs. mean row: Ladder 15 Sensor

bumber of raw hits vs. EventID: Ladder 15 Sensor ZI

/\ -
— — % i
— e — 10 5 l
] S — v
o — _— - 1 -
30 __ — I
-_ __ __ 7
_— __= 1 -
2 — — ]
_— L T — 10—1 :
—— |
1 1 e — ! i
— T e S — .
e __ = 1x10
4 6 8 10 12 0 7 8 9 10
Mean Column EventID (Time)

IEntries 11488 | IEntries 10210 |

I Raw Hit column vs. row: Ladder 15 Sensor 3 I Hit mean column vs. mean row: Ladder 15 Sensor

Mean Row

Column Mean Column



<rawhits>

Mean Row

IEntries 1929 | IEntries 11490 |
humber of raw hits vs. EventID: Ladder 15 Sensor SI I Raw Hit column vs. row: Ladder 15 Sensor 4 I

Row

10

4x10°
4 5 6 7 8 9 10
EventID (Time) Column

IEntries 10176 | IEntries 1929 |
humber of raw hits vs. EventID: Ladder 15 Sensor 4I

Hit mean column vs. mean row: Ladder 15 Sensor

/\ )
2 ]
= -
10 % ]
\% -
10 E
1 ]
1 E
107! ]
.X103
0 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

I Raw Hit column vs. row: Ladder 15 Sensor 5 I

4 6

8

10 12
Column

humber of raw hits vs. EventID: Ladder 15 Sensor 5I

5

6

7 8 9 10
EventID (Time)

Entries 10149

10

Entries 1929

'X103

Mean Row

Row

IEntries 8867 l

IHit mean column vs. mean row: Ladder 15 Sensor j

4 6

8

10

12

Mean Column

IEntries 8699 |

I Raw Hit column vs. row: Ladder 15 Sensor 6 I

—==

8

10

12
Column

10

107t



Mean Row

Row

IEntries 7422 l IEntries 1929 l
humber of raw hits vs. EventID: Ladder 15 Sensor GI

IHit mean column vs. mean row: Ladder 15 Sensor ﬂ

A .
2 -
10 < ]
\Y
10§ r
1 ]
1 E
107" )
4x10°
0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEntries 9405 | IEntries 7933 |
I Raw Hit column vs. row: Ladder 16 Sensor 1I IHit mean column vs. mean row: Ladder 16 Sensor il

Mean Row

4 6 8 10 12 2 4 6 8 10 12
Column Mean Column



<rawhits>

Mean Row

INumber of raw hits vs. EventID: Ladder 16 Sensor j

Entries 1929 IEntries 10375 l

I Raw Hit column vs. row: Ladder 16 Sensor 2 I

><103 P e e T P T

4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time)

IHil mean column vs. mean row: Ladder 16 Sensor EI

4

6 8 10 12
Mean Column

Column

Entries 9016 IEntries 1929 |

I:umher of raw hits vs. EventID: Ladder 16 Sensor 2I

<rawhits>

=110

Jx10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)




I Raw Hit column vs. row: Ladder 16 Sensor 3 I

2 4 6 8 10 12
Column

I:umber of raw hits vs. EventID: Ladder 16 Sensor 3I

<rawhits>

4 5 6 7 8 9 10
EventID (Time)

Entries 11191

10

Entries 1929

'X103

IEntries 9874 l

IHlt mean column vs. mean row: Ladder 16 Sensor j

Mean Row

2 4 6 8 10 12
Mean Column

IEntries 1154l|

I Raw Hit column vs. row: Ladder 16 Sensor 4I

: off 1
@ 60

50

40

30 110

20 |

10

2 4 6 8 10 12
Column

Page 77



Mean Row

Row

N
o
N T
|_\
o
<rawhits>
|_\

IEntries 10278 | IEntries 1929 |
bumber of raw hits vs. EventID: Ladder 16 Sensor 4I

IHit mean column vs. mean row: Ladder 16 Sensorj

10

4102
0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 10025 | IEntries 8802 |

Raw Hit column vs. row: Ladder 16 Sensor 5 Hit mean column vs. mean row: Ladder 16 Sensor

Mean Row

107t

Column Mean Column
Page 78



<rawhits>

Mean Row

IEntries 1929 l IEntries 8624 l
humber of raw hits vs. EventID: Ladder 16 Sensor 5I I Raw Hit column vs. row: Ladder 16 Sensor 6 I

- 3 —
x10 M e o PR
o 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time) Column

IEntries 7333 | IEntries 1929 |
IHil mean column vs. mean row: Ladder 16 Sensor d I:umber of raw hits vs. EventID: Ladder 16 Sensor 6I

'
2 .

= -

% .

\% -

- 10 10 'l| -:

. 1 r

'x]_03

2 4 6 8 10 12 0O 1. 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 17 Sensor 1I

1

N =

4 6 8 10 12
Column

Entries 1929

INumber of raw hits vs. EventID: Ladder 17 Sensor j

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 17 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 17 Sensor 2 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 80



Mean Row

Row

60

50

40

30

20

10

IEntries 0 | IEntries 1929 |
bumber of raw hits vs. EventID: Ladder 17 Sensor 2I

IHit mean column vs. mean row: Ladder 17 Sensor j

BN BLELELE BLELAL S DAL LR B BT A

- : 2

n - = 10

: ] 3

[ - v

F £ 1

5 ] 10

1072

I I P T P x103

2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEntries 11623 | IEntries 10290 |
l Raw Hit column vs. row: Ladder 17 Sensor 3 I IHit mean column vs. mean row: Ladder 17 Sensorj

Mean Row

Column Mean Column



<rawhits>

Mean Row

IEntries 1929 I

humber of raw hits vs. EventID: Ladder 17 Sensor SI

.x103

o0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 10174 |

Hit mean column vs. mean row: Ladder 17 Sensor

=
o

=

107t

I
Lt

h

Mean Column

Row

<rawhits>

IEntries 11440 I

I Raw Hit column vs. row: Ladder 17 Sensor 4 I

60

10
50
40

1
30
20

— O

Column

IEntries 1929 |

humber of raw hits vs. EventID: Ladder 17 Sensor 4I

10 E
1 E
4x10°
0 5 6 7 8 9 10

EventID (Time)



Entries 10346 IEntries 9070 l
I Raw Hit column vs. row: Ladder 17 Sensor 5 I IHlt mean column vs. mean row: Ladder 17 Sensor j

Mean Row

2 4 6 8 10 12
Column Mean Column

Entries 1929 IEntries 8719 |
I Raw Hit column vs. row: Ladder 17 Sensor 6 I

I:umber of raw hits vs. EventID: Ladder 17 Sensor SI

Row

<rawhits>

Jx10° P S IR B I
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time) Column
Page 83




Mean Row

Row

Entries 7440

IHlt mean column vs. mean row: Ladder 17 Sensor ﬂ

i [T ST T T TN B S T I T T [ 1

2 4 6 8 10 12
Mean Column

Entries 9188

I Raw Hit column vs. row: Ladder 18 Sensor 1I

=110

2 4 6 8 10 12
Column

IEntries 1929 l

humber of raw hits vs. EventID: Ladder 17 Sensor GI

<rawhits>

10

4x103
O 1.2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 7846 |

IHit mean column vs. mean row: Ladder 18 Sensor I

Mean Row

2 4 6 8 10 12
Mean Column



<rawhits>

Mean Row

60

50

40

30

20

10

INumber of raw hits vs. EventID: Ladder 18 Sensor j

2 3 4 5 6 7 8
EventID (Time)

IHil mean column vs. mean row: Ladder 18 Sensor EI

10

9 10 2

12

Entries 1929

IEntries 10378 l

I Raw Hit column vs. row: Ladder 18 Sensor 2 I

Entries 9009

Mean Column

6 8 10 12
Column

IEntries 1929 |

><103 I . —
4

I:umher of raw hits vs. EventID: Ladder 18 Sensor 2I

<rawhits>

10
=110

{x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)




Row

<rawhits>

10

IEntries 11363 |

Raw Hit column vs. row: Ladder 18 Sensor 3

10

107t

4 6 8 10 12
Column

IEntries 1929 |

humber of raw hits vs. EventID: Ladder 18 Sensor 3I

><103
7 8 9 10

EventID (Time)

3 4 5 6

Mean Row

Row

-
3
C |

N

10

IEntries 10076 |

Hit mean column vs. mean row: Ladder 18 Sensor

10

Ilhll Il‘l‘

107t

I
JIII

Ill IﬂllllI II Il Illl ':I II

:

2 4 6 8 10 12
Mean Column

IEntries 11612 |

I Raw Hit column vs. row: Ladder 18 Sensor 4 I

Column



Mean Row

Row

IEntries 10281|

IHit mean column vs. mean row: Ladder 18 Sensorj

Mean Column

IEntries 10431|

I Raw Hit column vs. row: Ladder 18 Sensor 5 I

60
10
50
40

30

20
107t

Column

IEntries 1929 |

bumber of raw hits vs. EventID: Ladder 18 Sensor 4I

A
@ i
= i
g
v i
10 =
1 =
.x103
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 9120 |

Hit mean column vs. mean row: Ladder 18 Sensor

10

Mean Row
I
IIII‘
| ] F

|
Ll

I

107t

I| II
I
II’"II

12
Mean Column



<rawhits>

Mean Row

IEntries 1929 I

humber of raw hits vs. EventID: Ladder 18 Sensor 5I

.x103

5 6 7 8 9 10

EventID (Time)

IEntries 7520 |

Hit mean column vs. mean row: Ladder 18 Sensor

| II‘I i

I‘I‘IIII‘I

HI‘
"t

”III

Al TR
W

Mean Column

<rawhits>

10§

IEntries 8848 I

Raw Hit column vs. row: Ladder 18 Sensor 6

10 12
Column

IEntries 1929 |

humber of raw hits vs. EventID: Ladder 18 Sensor GI

5

6

1x10°
7 8 9 10

EventID (Time)



IEntries 9526 | IEntries 8070 |

I Raw Hit column vs. row: Ladder 19 Sensor 1I Hit mean column vs. mean row: Ladder 19 Sensor

S
x 60
- 10
<
(]
=2 50
40
1
30
20
1071
10 —— —
4 6 8 10 12
Column Mean Column

IEntries 1929 | IEntries 10426 |
INumber of raw hits vs. EventID: Ladder 19 Sensor j I Raw Hit column vs. row: Ladder 19 Sensor 2 I

ﬂ | — —
= C O RNt e
\Y f— —
e
10 — || I |
40P B —
- _— __ I 1
= —_ . = =
__ -
- ___ ] u—
— | -1
e = — 4l 10
5 e — e
xlo _— ——
0 3 4 5 6 7 8 9 10 2 8 10 12
EventID (Time) Column

Page 89



Mean Row

Row

IEntries 9060 l

IHit mean column vs. mean row: Ladder 19 Sensor a

60
10

I—--—

50

——

30

20 —-__
|
— 10—1
— = =T
PR BRI R e
2 4 6 8 10 12
Mean Column
IEntries 11613 |
I Raw Hit column vs. row: Ladder 19 Sensor 3 I

Column

IEntries 1929 l

humber of raw hits vs. EventID: Ladder 19 Sensor 2I

N -
2 i
= i
\Y
10 E
1 E
- X103
O 1 2 3 4 5 6 7 8 9 10
EventID (Time)
IEntries 10304 |
IHit mean column vs. mean row: Ladder 19 Sensor il
=
o
@
c
[3M]
(]
=

2 4 6 8 10 12
Mean Column




<rawhits>

Mean Row

Entries 1929 IEntries 11730 l
humber of raw hits vs. EventID: Ladder 19 Sensor 3I I Raw Hit column vs. row: Ladder 19 Sensor 4 I

- 3 —
x10 ] P ] R TP e e | e |
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Entries 10379 IEntries 1929 |
I:umher of raw hits vs. EventID: Ladder 19 Sensor 4I

IHil mean column vs. mean row: Ladder 19 Sensor j

N

2 ]
60 . = 4
% ]
50 \Y% -
10 ‘ =
40 .
=110 i

30 -

20 d
1 -
10 i

'x]_03
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10

Mean Column EventID (Time)



Row

<rawhits>

Entries 10507 IEntries 9160 l
I Raw Hit column vs. row: Ladder 19 Sensor 5 I IHit mean column vs. mean row: Ladder 19 Sensor j

Mean Row

=110
PP BRI B i IR BRI PR B PR
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column

Entries 1929 IEntries 8788 |
humber of raw hits vs. EventID: Ladder 19 Sensor 5I I Raw Hit column vs. row: Ladder 19 Sensor 6 I

2
- o
i @
10
] 107
'X103
5 6 7 8 9 10
EventID (Time) Column



Mean Row

Row

IEntries 7534 l IEntries 1929 l
humber of raw hits vs. EventID: Ladder 19 Sensor GI

Hit mean column vs. mean row: Ladder 19 Sensor

N
2 .
10 < ’
% -
T -
10 ;} -:
! E
1 E
107 ]
4x10°
2 4 6 8 10 12 0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEmries 9169 | IEntries 7774 |
I Raw Hit column vs. row: Ladder 20 Sensor 1I IHit mean column vs. mean row: Ladder 20 Sensor il

:
60 £ 60

[y

©

()
50 = 50
40 410 40
30 | 30
20 ) 20
10 10

2 4 6 8 10 12
Column Mean Column



<rawhits>

Mean Row

Entries 1929 IEntries 10319 l
INumber of raw hits vs. EventID: Ladder 20 Sensor j I Raw Hit column vs. row: Ladder 20 Sensor 2 I

x10° .|...|...|...|...|.._.|.
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Entries 8977 IEntries 1929 |
I:umber of raw hits vs. EventID: Ladder 20 Sensor 2I

IHil mean column vs. mean row: Ladder 20 Sensor EI

A .
2 ]
= ]
\%
10 -
4.0 ]
1 -
'><103
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



<rawhits>

Entries 11669

I Raw Hit column vs. row: Ladder 20 Sensor 3 I

=110

2

4 6

8

10 12
Column

Entries 1929

I:umber of raw hits vs. EventID: Ladder 20 Sensor 3I

2 3 4

5

6

Jx10°
7 8 9 10

EventID (Time)

IEntries 10354 l

IHlt mean column vs. mean row: Ladder 20 Sensor j

Mean Row

i P [ L [ e o L PR Y
2 4 6 8 10 12

Mean Column

IEntries 11720 |

I Raw Hit column vs. row: Ladder 20 Sensor 4 I

Row

Column



Mean Row

Row

Entries 10347

IHlt mean column vs. mean row: Ladder 20 Sensorj

=110

2 4 6 8 10 12
Mean Column

Entries 10539

I Raw Hit column vs. row: Ladder 20 Sensor 5 I

=110

2 4 6 8 10 12
Column

IEntries 1929 l

humber of raw hits vs. EventID: Ladder 20 Sensor 4I

<rawhits>

10

4x103
O 1.2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 9199 |

IHit mean column vs. mean row: Ladder 20 Sensor j

Mean Row

10 12
Mean Column

Page 96



<rawhits>

Mean Row

IEntries 1929 l IEntries 8882 l
humber of raw hits vs. EventID: Ladder 20 Sensor 5I I Raw Hit column vs. row: Ladder 20 Sensor 6 I

i % L N B B B
i @ 60
| 10
50
] 40
I 1
] 30
E 20
] 107
4x10°
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEmries 7602 | IEntries 1929 |
humber of raw hits vs. EventID: Ladder 20 Sensor 6I

IHit mean column vs. mean row: Ladder 20 Sensor EI

L . . /\
b .
60 = |

10

50 v
10 E
l -
30 ]
20 1 r
107! ]
10

- X103
2 4 6 8 10 12 0 5 6 7 8 9 10

Mean Column EventID (Time)



7975

Entries

9363

Entries

Hit mean column vs. mean row: Ladder 21 Sensor

Raw Hit column vs. row: Ladder 21 Sensor 1

o
___ _
_L_ ____:

MOY UeaN

a{_r: __

_ ____",_ SLTh

_hm_____

o
—

|
ﬁ__ 1]
LA

moy

__ e _8

Mean Column

Column

10507

Entries

1929

Entries

Raw Hit column vs. row: Ladder 21 Sensor 2

[Number of raw hits vs. EventID: Ladder 21 Sensor

!

moy

107t

It
___L_
It ___=

.x103

<slymes>

9 10

8
EventID (Time)

Column

Page 98



Mean Row

Row

60

50

40

30

20

10

IEntries 9236 |

Hit mean column vs. mean row: Ladder 21 Sensor

Mean Column

IEntries 9890 |

I Raw Hit column vs. row: Ladder 21 Sensor 3 I

10

107t

12
Column

<rawhits>

10

60

Mean Row

50

40

30

20

IEntries 1929 |

bumber of raw hits vs. EventID: Ladder 21 Sensor ZI

1x10°
7 8 9 10

EventID (Time)

IEntries 8792 |

2 3 4 5 6

IHit mean column vs. mean row: Ladder 21 Sensor j

10

107t

Mean Column



<rawhits>

Mean Row

IEntries 1929 | IEntries 11663 |
humber of raw hits vs. EventID: Ladder 21 Sensor SI I Raw Hit column vs. row: Ladder 21 Sensor 4 I

' S
] x 60
i 10
50
10 =
. 40
7 1
7 30
20
1 =
- -1
i 10 10
1x103
0 1 2 3 4 5 6 7 8 9 10
EventID (Time) Column

IEntries 10393 | IEntries 1929 |
humber of raw hits vs. EventID: Ladder 21 Sensor 4I

Hit mean column vs. mean row: Ladder 21 Sensor

N
= -
m— e e BN 2 ]
- — v -
. — ]
o — — 1 1 ]

-=-:__=:
1 -
e 10 1
.x103

0 5 6 7 8 9 10
Mean Column EventID (Time)

Page 100



Row

<rawhits>

10

IEntries 10369 |

Raw Hit column vs. row: Ladder 21 Sensor 5

Column

IEntries 1929 |

humber of raw hits vs. EventID: Ladder 21 Sensor SI

4102
7 8 9 10

EventID (Time)

3 4 5 6

IEntries 9159 |

Hit mean column vs. mean row: Ladder 21 Sensor

Mean Row

Mean Column

IEntries 7532 |

Raw Hit column vs. row: Ladder 21 Sensor 6

Row

10

107t

IIIII Illih 1|

10

Column
Page 101



1929

Entries

1x10°
9 10

8
EventID (Time)

6502

Entries

umber of raw hits vs. EventID: Ladder 21 Sensor 6

10 ‘\
1

<suymes>

A

Hit mean column vs. mean row: Ladder 21 Sensor

o o o o o o
© < o™ N —

MOY UeaN

Mean Column

7759

Entries

9147

Entries

Hit mean column vs. mean row: Ladder 22 Sensor

Raw Hit column vs. row: Ladder 22 Sensor 1

10

o o
© Lo

MOy ueap

10

_,_____ i

moy

T

o o o o
< ™ N —

_, r

LI N
L__l
| B

111

__'____

10‘1

F.__7 "._._ | _.___ﬁ___‘_k;.l

__;

Mean Column

Column

Page 102



<rawhits>

Mean Row

60

50

40

30

20

10

INumber of raw hits vs. EventID: Ladder 22 Sensor j

Entries 1929 IEntries 10490 l

I Raw Hit column vs. row: Ladder 22 Sensor 2 I

><103 P e e S PR R e L PR

2 3 4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time)

IHil mean column vs. mean row: Ladder 22 Sensor EI

4 6 8 10 12
Mean Column

Column

Entries 9097 IEntries 1929 |

I:umher of raw hits vs. EventID: Ladder 22 Sensor 2I

<rawhits>

10

=110

1x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

Page 103



Row

<rawhits>

10

IEntries 11690 |

Raw Hit column vs. row: Ladder 22 Sensor 3

Column

IEntries 1929 |

humber of raw hits vs. EventID: Ladder 22 Sensor 3I

4

5

6

4102
7 8 9 10

EventID (Time)

IEntries 10369 |

Hit mean column vs. mean row: Ladder 22 Sensor

Mean Row

Mean Column

IEntries 7520 |

Raw Hit column vs. row: Ladder 22 Sensor 4

Row

40

107t

6 8 10 12

Column
Page 104



Mean Row

Row

Hit mean column vs. mean row: Ladder 22 Sensor

A" Rl A

N
o] ™

10

Mean Column

12

Raw Hit column vs. row: Ladder 22 Sensor 5

4 6 8 10

12
Column

Entries 6742

Entries 10414

N
(%
=
10 %
Vv
10§
1
1
1071
0 1
2
& 60F
c B
© L
w o
= SO0
40f
30f
10 X
20F
10

IEntries 1929 l

humber of raw hits vs. EventID: Ladder 22 Sensor 4I

4

5

6

4103
7 8 9 10

EventID (Time)

IEntries 9132 |

IHit mean column vs. mean row: Ladder 22 Sensor j

=110

P | W A — —

1
2

Page 105

4

6

8

10 12
Mean Column



<rawhits>

Mean Row

IEntries 1929 I IEntries 8982 I
humber of raw hits vs. EventID: Ladder 22 Sensor 5I I Raw Hit column vs. row: Ladder 22 Sensor 6 I

2 = = — [
1 I — . —
i ] _—
l -
| —
— I
"1 —— _- | _—
] e s
] e ——
- — ——
— —
_ p— ] .
: - B
- __ [
] T — ]
_ — =
- -
fero0 mEE_ =
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEntries 7714 | IEntries 1929 |
humber of raw hits vs. EventID: Ladder 22 Sensor GI

Hit mean column vs. mean row: Ladder 22 Sensor

— - &
60 _ — _- E 1
— — — i 10 c% |
y— *—l : =~
50 - — || b v
— e - 10 | -
- | ] | :
— — J
——— =17’ ]
30 ] ] ]
— - —— |
e
20 L — i 1 E
- __ - __ 10—1 ]
10 R—— e — ] ]
—— == o
—— _— — 4x10°
4 6 10 12 0 5 6 7 8 9 10
Mean Column EventID (Time)

Page 106



IEntries 9108 | IEntries 7775 |

Raw Hit column vs. row: Ladder 23 Sensor 1 Hit mean column vs. mean row: Ladder 23 Sensor
| ¥ &
2 — e =
@ 60
r— | 10

= — —

Fes) — — —

2 . B —

SO
[ —

=
2 :_
e

107t

=

I

'.'1."'.'!:.

2 4 6 8 10 12
Column Mean Column

IEntries 1929 | IEntries 10844 |
INumber of raw hits vs. EventID: Ladder 23 Sensor j I Raw Hit column vs. row: Ladder 23 Sensor 2 I

Row

<rawhits>

] 107
.x103
4 5 6 7 8 9 10
EventID (Time) Column

Page 107



Mean Row

Row

IEntries 9437 |

Hit mean column vs. mean row: Ladder 23 Sensor

Mean Column

IEntries 11761|

I Raw Hit column vs. row: Ladder 23 Sensor 3 I

60
10
50
40

30

20

107t

6 8 10 12
Column

IEntries 1929 |

bumber of raw hits vs. EventID: Ladder 23 Sensor ZI

<rawhits>

10

4102
7 8 9 10

EventID (Time)

IEntries 10411|

0 1 2 3 4 5 6

IHit mean column vs. mean row: Ladder 23 Sensor j

10

Mean Row

107t

6 8 10 12
Mean Column

Page 108



<rawhits>

Mean Row

IEntries 1929 | IEntries 11797 |
humber of raw hits vs. EventID: Ladder 23 Sensor SI I Raw Hit column vs. row: Ladder 23 Sensor 4 I

10}

14103
4 5 6 7 8 9 10
EventID (Time) Column

IEntries 10503 | IEntries 1929 |
humber of raw hits vs. EventID: Ladder 23 Sensor 4I

Hit mean column vs. mean row: Ladder 23 Sensor

A .
ﬂ -
E -
10 3
5 .
10 E
1 ]
! E
107
.x103
0 5 6 7 8 9 10
Mean Column EventID (Time)

Page 109



Row

<rawhits>

IEntries 10512 l IEntries 9219 l
I Raw Hit column vs. row: Ladder 23 Sensor 5 I IHit mean column vs. mean row: Ladder 23 Sensor j

Mean Row

Column Mean Column

IEntries 1929 | IEntries 9082 |
humber of raw hits vs. EventID: Ladder 23 Sensor 5I I Raw Hit column vs. row: Ladder 23 Sensor 6 I

i 2
J o
@
T 10
. 1
: 10_1
.x103
5 6 7 8 9 10
EventID (Time) Column

Page 110



1929

Entries

4102
9 10

8
EventID (Time)

7724

Entries

umber of raw hits vs. EventID: Ladder 23 Sensor 6

o
-

<suymes>

-1

10
10

_,_ :__,__ : E_w

12

10
Mean Column

Hit mean column vs. mean row: Ladder 23 Sensor

! ______ allbi i M

o
o Te] < (40] N
MOY UeaN

7827

Entries

9115

Entries

Hit mean column vs. mean row: Ladder 24 Sensor

Raw Hit column vs. row: Ladder 24 Sensor 1

f

o o
<

: ____,__*_

MOy ueap

moy

!

_____,_____,4_,____

-:_ _ _*_ _-

___4

i

;

_____F_

_7__6

Mean Column

Column

Page 111



Mean Row <rawhits>

ml‘ |
il

"L

IEntries 1929 I

INumber of raw hits vs. EventID: Ladder 24 Sensor j

5 6

4103
7 8 9 10

EventID (Time)

IEntries 8923 |

Hit mean column vs. mean row: Ladder 24 Sensor

—

Mean Column

Row

<rawhits>

Page 112

IEntries 10147 I

Raw Hit column vs. row: Ladder 24 Sensor 2

10 12
Column

10

IEntries 1929 |

humber of raw hits vs. EventID: Ladder 24 Sensor 2I

5

6

><103

7 8 9 10

EventID (Time)



Row

<rawhits>

IEntries 9360 |

Raw Hit column vs. row: Ladder 24 Sensor 3

107%

Column

IEntries 1929 |

humber of raw hits vs. EventID: Ladder 24 Sensor 3I

3 4

5

6

4102
7 8 9 10

EventID (Time)

IEntries 8380 |

Hit mean column vs. mean row: Ladder 24 Sensor

% - —— — =
SR 10
<5} ] —
E L —
40F f—
— 1
30 —-

107t

1 NN III h

2 4 6 8 10 12
Mean Column

IEntries 11575 |

Raw Hit column vs. row: Ladder 24 Sensor 4

Row

40

107t

6 8 10 12

Column
Page 113



Mean Row

Row

IEntries 10336 |

IHit mean column vs. mean row: Ladder 24 Sensorj

10

w
o

107t

2 4 6 8 10 12
Mean Column

IEntries 10372 |

I Raw Hit column vs. row: Ladder 24 Sensor 5 I

60

50

40

30

20
107t

Column

<rawhits>

Mean Row

IEntries 1929 |

bumber of raw hits vs. EventID: Ladder 24 Sensor 4I

4102
7 8 9 10

EventID (Time)

IEntries 9077 |

0 1 2 3 4 5 6

Hit mean column vs. mean row: Ladder 24 Sensor

10

1 'Iu""*lu 0

107t

|

6 8 10
Mean Column

Page 114



<rawhits>

Mean Row

IEntries 1929 I

humber of raw hits vs. EventID: Ladder 24 Sensor 5I

><1O3

o0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 7409 |

Hit mean column vs. mean row: Ladder 24 Sensor

6 8 10
Mean Column

'l IIII. 'l IIIII-
[ =
o

107t

Row

<rawhits>

[y
o

0

Page 115

IEntries 8552 I

Raw Hit column vs. row: Ladder 24 Sensor 6

Column

IEntries 1929 |

humber of raw hits vs. EventID: Ladder 24 Sensor GI

5

6

4102
7 8 9 10

EventID (Time)



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74
	Page 75
	Page 76
	Page 77
	Page 78
	Page 79
	Page 80
	Page 81
	Page 82
	Page 83
	Page 84
	Page 85
	Page 86
	Page 87
	Page 88
	Page 89
	Page 90
	Page 91
	Page 92
	Page 93
	Page 94
	Page 95
	Page 96
	Page 97
	Page 98
	Page 99
	Page 100
	Page 101
	Page 102
	Page 103
	Page 104
	Page 105
	Page 106
	Page 107
	Page 108
	Page 109
	Page 110
	Page 111
	Page 112
	Page 113
	Page 114
	Page 115


